ACTFSM-02

ACT-ASSOCIATION OF COMPUTER TEACHERS MALAPPURAM
ot MODEL EXAMINATION 02

COMPUTER SCIENCE
ANSWER KEY
Qn | Ch Question Value points Score | Total
No | No
PART A |Answer any 5 questions from 1 to 7. Each 1 23O@B 7 UOE@IBS n@O@MEsIRIJe 5 GaldR(EBRUBH6) DO®@o PART A
carries 1 score. (5%x1=5) ag)PIONB:. 1 M@ afl@o. (5x%x1=5)
1 1 |Who is known as the father of Computer? Charles Babbage 1 1
HMISAlO allmoal agymcleqsymo) @reosem?  |Charles Babbage 1 1
2 2 |Each digit of a binary number is called . Bit 1 1
8@} ©66nIMAl MMIGIHNG 6396 BPEOHBOM@Ie _ |Bit 1 1
ag)am Qllgsleenom;.
3 3 |Expand RAM. Random Access Memory 1 1
RAM 608 a1)3@6mM®@3alo af)93@Nds. Random Access Memory 1 1
4 4 |Which flowchart symbol is used for decision
making? Rhombus /[ Diamond /[ Q 1 1
Decision making ¥ 9a16@ouilesnm 6ago1035
TlognIad gy @ ? Rhombus / Diamond |/ Q 1 1




5 5 |Reserved words in C++ are called.............. Keywords 1 1
C ++ @ Oluadal £21Q® «1R6336S ag)am Keywords 1 1
allglesymm;.

6 8 |Give an example for a derived data type in C++, Arrays /[ Pointers [ Functions 1 1
Derived data type 0 6@} 939a0®6Mo af)PINE:. Arrays /[ Pointers [ Functions 1 1

7 12 |Find the odd one out:

i) Trojan Horse i) Phishing i) Wikis 1 1
i) Wikis iv) Hacking
SHISODNDB HAISIODD) BHeNallSIoeH:
i) ®(S92M BaOIYMY i) adlatlears iii) allesllny 1 1
iii) alleslny iV) a0086)16813
PART B |Answer any 10 questions from 8 to 27. Each carries |8 23@@3 27 Q6® a@e@eslelo 10 @aldR(EBRUBHE) OTDM@o MTBHIH:. PART B
2 scores. (10 x 2 = 20) 2 MIEH0@ Qllo. (10 x2=20)
8 1 |Match the following:
A B A B
a) First Generation Computer i) Integrated a) First Generation Computer (iii) Vacuum Tube 1/2
Circuit b) Second Generation Computer (iv) Transistor 1/2
b) Second Generation Computer ii) Microprocessor |c) Third Generation Computer (i) Integrated Circuit 1/2 2
¢) Third Generation Computer iii) Vacuum Tube |d) Fourth Generation Computer (ii) Microprocessor 1/2
d) Fourth Generation Computer iv) Transistor
@al®Yo alSl GalBHND::
A B
ag)) 80Nl MEINO SHMIPSA i) AGEUWQAL A B
qVABE(IS ag)) BMo @EIBIO SHMUISA i) AUIB o SiIeNT
enil) @6z @EIMI0 HHMURSA i) enil) @620 @EINI0 SMIRSAB (V) (SOMBMIlgnd 1/2
OAG(H06)(IOTVEYD mil) @300 @EIMIO HMURPSA i) DARBUNQAU MVBBRS 1/2 2
mil) @300 @ERIAZO BHMURSA i) AUIBslo SiaeNnT afl) MoeIe @EINO &MIRSAB i) OODEEIN(IITVEYD 1/2
aufl) moede @eIR0 &MIRSA@ V) (Samadland 1/2




9 Draw the truth table of logical OR Gate using 2 A B A+B
inputs
0o | o 0 1/2
0 1 1 1/2
1 0 1 1/2
1 1 1
1/2
2 01BaNiSIHUB OaleIUIlg88 Logical OR Gate A B A+B
eagd truth table cue@o6®:.
X 3 0|0 o 112
0 | 1 1 1/2
1 0 1 1/2
1 1 1 1/2
10 Write a note on Unicode. Any two points from the following
* Universal and standard character encoding scheme
» Used to represent all characters used in the written
languages of the world. 2x1
+ Uses 16 bits or more.
+ Can represent more characters
pemlesoullom &0la] 8@ @3Gla] ag)Wimae:. @6 |0@IMAIEI@3 MM ngemesslelge eenzemo
¢ QemleSTUE3, QRIMBEWABMY E20@E:SB af)BEBIUSloUY
Misslo
* GRIGODIOL! af)9IME)e]S RIUBSITB DalEIUIEHM ag)fJO | 2 X 1

(1D 683080 (IDIMIUWH@1H6IMB Dalc@IULenM].
al@IEMIBNI @RMITD BSIMEEID NIQIE-UB DalE@IUIBMM]
EHISIOITD BREHUEETRUD (A I@IMIUB:@ElH6008 BYl@yo




11 An AND operation performs logical -------------- and Multiplication
an OR operation performs logical -------------- .
Addition
AND operation e®} celoloeecd Multiplication
(Iudoommale OR operation 6@}
@e10281 86 @D (IUBODMAQIZe MIBQYOIENMI. | Addition
12 Define System software. Write any one component |Set of programs to control the operations of a computer

of system software.

OR
Collection of programs used to manage system resources and
control its operations.

Operating System / Utility Software / Language Processors
OR

Examples like Windows, Linux, Compiler, Interpreter etc.

1/2

milgge GMVIAY HAUDA MIBALleas. ago®melee
803 MIMI000 BIVIAAY HAIA “LISEOT0ION]
GalORYITRG:.

80} HMURSAOG (LAUBDMMEBBUE MWW ERMTIMSBS 63@} 350
G(aJO(NIDIBEB06M).

OR
System resources ©6&@@o §aIQRMMIMo @GOG
(JUBDMEBRUD M (MMHOIMIo DalEIWINHLEMM GEINNIDIGSIOS
GUBKI@o.

Operating System / Utility Software / Language Processors
Or
Windows, Linux, Compiler, Interpreter @}sesrl@ 93.0@6M6B3UB.




13

Compare Freeware and Shareware

Any two points from the following,

Freeware

Shareware

Anyone can download from the
Internet and use for free.

Give users a chance to try the
software before buying it.

All the features are free.

All the features are not
available.

2x1
Can be distributed free of cost |May or may not be distributed
freely.
©AOAIRE, HHVWBHAURB @ICDA 6).21QRd: @26 ®mMidleamaiad mlmmie agemsslelle @60
dlenad 6N BHUWD
@RBHNe HMPBOHMAI@ Ml | @NVIAQ HAUDE QUIEBBIAMN@IY
WDENBGRIIW 621 @M @R®) ldlele6d
MDLM(AID] DalEINNEIo. | DalEIBMISNUBHE) @RIV
@B,
2x1

af)gJo QiU UMBBo
MUDEIM(AIEM).

aflal muaileveat®s:03 eIRIRE.

MUMBM@IDI] Ql@BEMo 6.21Q)J0.

MUMVEIMAICDI @RLJIOHDEI
Qll®®©eMo 6 .21Q)0.




14

Write an algorithm to find the area of a rectangle.

Step 1: Start
Step 2: InputlL, B
Step 3: A=L*B
Step 4: Print A
Step 5: Stop

1/2 mark for step 1 and 5
(Variable names can be changed )

1 mark can be given for the following
Step 1: Start

Step 2: Input length and breadth
Step 3: Find area

Step 4: Print area

Step 5: Stop

1/2
1/2
1/2

1/2

8@} (13212 1EREOTIONNG al@q sl
&N lSIENMDIMSS @R@BEUNIRI o af)PIDE:.

Step 1. ©)seBR3

Step 2: L, B D(BaRs 6)a1Q)pes
Step 3: A=L *B

Step 4: A (1BBWlo]leenes
Step 5: @AIMVIMlq]leens

1/2 mark for step 1 and 5

(variable ®836s Gal@ @2020Q3M@mI6M )

@I OBISIOMIGHLMM @RA@BSNIBIOHIT 1 2OBL6)
6)HISIEHINUIM@IEN

Step 1. ©OseeR3

Step 2: aflgo , AN@) agyMlay DMBalRS O21QRS

Step 3: al@E8QT &6MYies

Step 4: a1E8QT (N0d’ eo1gps

Step 5:  @oUAVIMIo]leene:

1)2
1)2
1)2

1/2




15 What is the importance of proper documentation in|Any two points from the following
programming ? » Itis an ongoing process that starts in the first phase and
continues till its implementation.
» ltis helpful for debugging and the modification of the 2x1
program later.
+ Two types: Internal documentation and External
documentation
G(19(IA6BREIEE LEBIWIW BAIEIOAGNPaHETY @926 @MIGleamnmMAI@d Ml n@emssslale ee6nEaRo
(12UIMfo ag)ODIEN? © DO @RR( LISOMITB @RE.ElL] @RM MSe{lRINEMM@AUO®
@S@M B3@3 ERSDB 2| QIW (al(@l@IEN).
* GIWIZleL! OHQPEUB B6N3YailSla] @I @My,
aflomilS growadleng aidlaieneemamimie ooy 2x1
MO HAI6M)
¢ @6 M®o - NIdaN( AllIEEM., @RS AllaiEeMo
16 If (X)s = (101011), = (Y)s6. Find the values of X and Y. |X =53 1
Y =2B 1
(X)g = (101011); = (Y)16 ag)®l@d X, Y agyomli)es X =53 1
QllelsuB H606NMRORS:. Y=28B 1
17 What is type promotion in C++ ? Any two points from the following
* Implicit type conversion
* Performed by C++ compiler internally.
» Converts the lower sized operands to the data type of 2x1
highest size operand.
(Example 5/2.0= 5.0/2.0=2.51 mark)
C ++ @3 ©6Sq] (IBRIHUM af)aDIEM? ooy @mmildleamaailad almze agamsslee eeemzapo
» Implicit conversion
¢ C+t+ &6060MIeId @RIMEIGAIQI @ MSTImRZM]
+  &al0l memory size eRsg operands &m aiell@ memory 2x1

size 988 operands 603 (WIQIOOSe] @SS MIQIAM].
9B2aNE6Mo - 5/2.0= 5.0 /2.0=25 1 20d®6 )




18

Write any two logical operators of C++ with

Any two from the following

symbols. Operator Symbol
1. Logical AND &&
2. Logical OR | | 2%
3. Logical NOT !
1/2 mark can be given for each operator (2 x 1/2 ) and each
symbol (2 x 1/2)
C ++ 68l a@e®sslelo 2 GRINEIEHI 6I¢|CNRME:0S8 IO @MMIGleanMAIEI@d MMMl n@ameslelle Ea6NMEaRo
@PRAIQROS 2llaMEBRUB DalB@IUI 5] af) RIS £99/60Qa3 aflaMo
1. Logical AND &&
2. Logical OR | | 2 x 1
3. Logical NOT !
(6962 82qJ80Q0IMYe 1/2 MBHY Allmuge (2 o0 1/2) miloerueilay 1/2
200606 Q@AYo OBISIEHIUIM@IEM (2 0 1/2)
19 Arrange the following data types in the ascending |void, char, int, double 2
order of memory size.
int, char, double, void (1 mark can be given for the order double, int, char, void )
Memory size 60 @RERIN6M (E:AMTHITD void, char, int, double 2
@IOY ORI AWIQIOOSAIBOS (B>A BB
int, char, double, void (double, int, char, void &M SlHDI@B ag)PI@IOTB 1 BIBH6)
6 SO INUIM@IEN)
20 What is the use of the keyword 'const'? Any two from the following
* The keyword const is used to declare a constant
* This keyword makes a variable read-only 2x1
* access modifier
‘const’ ag)M SISO DalE@INIo ag)IEM? @26 ®MIGleanmMA®ITd ngemsslrlle @a6EaRo
«  mudlee Nflele:s)8s cUGlI8sIe:UB 96N8IH6)I03
DaIBINIHERM]
+ 8@ cucdlwsnilglom read only @@l @0QaaM;. 2x1

« access modifier




21

Write the syntax of if.. else statement. if (test expression) 1/2
{

statement 1; 1/2
}

else 1/2
{

statement 2; 1/2
}
OR

(2 mark can be given for Correct example )

if .... else a8 syntax ag)93one:. if (test expression) 1/2
{

statement 1; 1/2
}

else 1/2
{

statement 2; 1/2
}
OR

(VPRI ©BINNEEMD@MIM 2 MIBHE) OGISIHHINUZMDIEN))




22

Write a for loop statement to print the numbers
from 1 to 10.

for (i=1; i < =10; i++)

cout<<i; 2
OR OR
i=1; 1/2
i<=10; or i<11 ; 1/2
i++ [ ++i [ i=it [ i+=1 1/2
cout<<i; 1/2
1 23@@3 10 UOHE@IBS MVo6L(HUB (il for (i=1; i <=10; i++)
621QUMSS for eRe] GARGORNG af) 9IRS,
cout<<i; 2
OR OR
i=1; 1/2
i<=10; or i<11; 1/2
i+ [+ =it [ =T 1/2
cout<<i; 1/2

10




23

Define an array. Write the syntax for array
declaration.

Array is a derived data type 1/2

Used to store elements of the same type in continuous memory
locations.

Or

It is used to store multiple values of same type under a common
name.

Syntax for array declaration :
datatype arrayname|[size];
OR
Example :
inta [10];

8@} array mldalailess. array allg@ad
£21QRM@IMBS syntax og)9Ioao.

63@} derived data type @oem

@SB oI HRAAG] HEIIEEOHMGSEITD BEO MEOTILRSS
alleldu3 MIEHlE6IMB OalEIUINHL6RIM].

OR

8@} Cal® 9aleWIUI,] 860 MEODIEREs emileiwld alleleud
MEHE6HINB DalEIUINHB6RM].

milagossmy
datatype arrayname([size];
OR
932aNE6EMo
inta[10];

11




24

Compare the two searching methods used in
arrays.

Any two comparisons from the following

Linear Search Method

Binary Search Method

The elements need not be in
order

The elements should be in
sorted order

Takes more time for the Takes very less time for the 2x
process process
May need to visit all the All the elements are never
elements. visited.
Suitable when the array is Suitable when the array is
small large
@REOBEITD Oale@IUileanymm @ens Searching @969 @MIGleaMAIIG3 Mmlimio ngier@essleile 6]
QBN BU8 IR0 O 2IQRS:. @IR@MA(6BBUD
Linear Search Binary Search
Elements e @aolay Elements &al6:@l] Sl@l@il@d
(a1owomyaAiley ©@RWIAlH66Mo
EHYSIMTD VAo &3I0aJ] Mo Dale@IWVNBRM. || 2 X 1

DalEINIBERM].

ag)gJo elements 9o MVMBABUBlENZ0

ag)gjo elements 9o
mmadudlessmeaay
mlderuawailgy

6)210l@ @OEOEUBHE)
GO o j@o6Ny

el @eCOE-UBH6)
eI 5 @6My

12




25 12 |Search engines are used to search information in |Any two from the following
Worlld Wide Web. Write the names of any 2 search . Google
engines.
*  Yahoo 2x1
+ Ask
* Bing
World Wide Web @3 aillauieesrud exmoe@ymlay @96 OISOTIABLMNMAUDIITB BBl POENZENo
search eng!nes DalEIUINBNRMM]. aBO®eslllo 2 . Google 2% 1
search engine &:836S Gale)@YIOREH:.
*  Yahoo
+ Ask
* Bing
26 9 |Explain the use of get() function in C++ with an get() is used to accept a single character or multiple characters 1

example

| get() is a stream input function./ Syntax

Eg: ch=cin.get (ch); / cin.get(ch); /[ accepts a single
characters
OR

cin.get(str) ; // accepts a stream of characters

C ++ @3 get () aNoUIsUONY DalBINI 3@}
©39a0EMMVAOI®o QllUoRElB:@ElH6)E:

6303 @RAHUOCRI SMMILIWldo @REHUEBRESI (M(Sles) myjledleed0d
DO Oale@IVEeM,. [ get() B@3 MI(Slo DNBal}S a06BEUMIET) [
ailagodssony

©B2aNE6Mo
ch=cin.get (ch); / cin.get (ch); // accepts a single characters

OR cin.get(str) ; // accepts a stream of characters

13
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12

Write any two advantages of social media.

Any two points from the following:

» Bring people together

* Plan and organise events 2x1
* Business promotions
* Social skills
Social media @}e)s a@e@EsILIR 2 EGMFEBRUB @6 @mmMildleanmaiad mlmmie ngemssslele ee6EaRo
) 9IRS
. TRSIHO8 YA s] GalB@H60My
. al@laloSI8Ins @RMVY@EMAU (H-AHEEMNII0
. QI0eMIeY(  (alald@6emo 2x1

. MVIDOlE OEMalleMo

14




PART C

Answer any 10 questions from 28 to 48. Each
carries 3 scores. (10 x 3 = 30)

28 @B 48 UOEWIBS nGOMEsIRI30 10 @2123(6BRUBH6)
DOM@o MTBDYB>. 3 MIBHIB Ofl@o. (10 x 3 =30)

PART C

28 1

Compare the Analytical Engine and Difference
Engine of Charles Babbage.

Any three from each of the following
Difference Engine

Developed in 1822,

Mechanical calculator.

nvented to compile mathematical tables.
Perform arithmetic operations and print result
automatically.

Analytical Engine

Developed in 1833

It has many essential features found in the modern digital
computer.

It was programmable using punched cards

The engine had a store (memory) and a separate ‘Mill’
(Processor)

3x1/2

3x1/2

210680 eruocsnigdleng @rmelglen@d agermilmyo
Wla00mmy ag)erailmio IR 6.21QRH:.

836IMI@3 mlmmze aememe aflmo
Wlan0mmS ag)mdelnd

1822 @d ailemilafla@.

ONSHIMILOT@D SHITILMNCLIQD

DNEMID® alSlEEUB MVRINEBIEHIND Hr6NB3a TS| o|@).

NEMID (AIQIBOMMEBRUB MSORBQo aNLlo M G(IBIMAIW)]
@R4JSIENGHWI0 62IQRE

@RMEIGIen@d ag)mdeslad

1833 @d ailemilaflajo)

@RWMIe: WlelQ@d &miIstl@d @RI Mleuu]
MQIBUBHDE:UB SD@INT D6NnsE.

16 ©21Q® BHIBUIBUB DalE@IUI 4] DD GBI
6.21QORM @I @M}

ag)er2ilay @3 @rRINIe (62Ad) 8@} (B E: ‘Al@d’
(BI2MVQO30) DENRI@IIEINM]

3x1/2

3x1/2

15




29 Arrange the following numbers in descending 1000g 100,,, 1000, 3
order. OR OR
i) (10000) , i) 10000, = 16 1
ii) (1000) ¢ ii) 10005= 512 1
iii) (100 ) 1o iii) 100,, = 100 1
©36)96)EHISIOTM MVo6U(EH6)S 10004 100,, 1000, 3
@RAUGEINEM(HADOTIDTD af)PYORD:. OR OR
i) (10000) , i) 10000, = 16 1
ii) (1000) 4 ii) 1000 = 512 1
i) (100 ) 1o iii) 100,, =100 1
30 Define tokens in C++. List the names of any four Tokens are the fundamental building blocks of the program. /
tokens. lexical unit 1
Any four tokens from the following
* Keywords
+ ldentifiers
« Literals 4x1/2
* Operators
* Punctuators
C++ @ (350@6)6“)8(9306 (ﬁ](ﬁmsﬂma& n@@@&ﬂmao (BLGJO(_(DOQ’IG)(T§ @slmnom “ElSnB;SGB@OGTﬁ' @SOCBG)GTT)&@JU&. / 1
mael @sIeeeMIBud ellq O.21QRes oe1emilenmd ey
@969 @®MIAENMAIRITS nGO@EsIRIo 4 GSILHEMYB-UB
+ Keywords 4x1/2

* Identifiers
+ Literals

* Operators
*  Punctuators

16




31 Represent -85 in Sign and Magnitude and 1's 85, = 1010101 ( Binary) 1
Comp-lement form (Use 8 bit representation) = 01010101 ( 8 bit)
Sign and Magnitude form 11010101 1
1's Complement form 10101010 1
-85 em Sign and Magnitude form , 1's 85, = 1010101 ( ®&6numal) 1
Complement form ag)oml @aI@N@B ag)93miss.( 8 bit = 01010101 ( 8 enilg) 1
form 9a1eoUnlens: )
Sign and Magnitude form 11010101 1
1's Complement form 10101010
32

List and explain any 3 registers in CPU.

Any three from the following:

Accumulator - stores data to perform arithmetic logical operation

MAR / Memory Address Register - stores the address of a
memory location where data is written or read from.

MBR [ Memory Buffer Register - stores the data to be written or
to read by the processor.

IR / Instruction register - holds the instructions to be
executed by the processor .

PC [/ Program counter - holds the address of the next
instruction to be executed by the processor

(Name of any 4 Registers can be given 1/2 mark each - 4 x 1/2)

3x1

17




CPU o8l a@o@mssslele 3 =£lqn0ye:e08860la]

Qllu@leeyd:.

@I6¥a|0@MAIAI@E MM agemeslelio mememo

@REIMELINA: BRAEIOMOAGIE: GRIIEE]E: (L INBTMMEBRSIOS

aNRIEBRUB MBI O630M)

MAR [/ eaod] @rEwqy E=EIERA@ - (WIQ af)PIORESHEI
QU EMNBSHEWI O2IQYMN 8@} HRAAC] HEIIEEO UMY address

mu3eHleeyM].

MBR / ©2020] enian@ QYA - GEIITUEYRB af)eIMIGMI

QUOIEHICMI 988 (WIQ MUE:Hleanm].

IR [/ eDaBmi(sEe:08 eI - 6 (MR M aslessens

MIBBERUBEBRUB MUEHEeMM]

PC / @(l9G(1%0 &DEMA - 6)aldTUER@ @RSITCHIQI

Mldqadlesnsnz mldeguommileng address mueHlesymmy.  (

aROOssleRe 4 e=legRYmilong GaloEVIMIIM 1/2 mdes) allmo

6ISIHBOINRIM@IEM - 4 X 1/2)

3x1

18




33

Explain different freedoms related with open
source software.

Any three freedoms from the following.

1. Freedom 0 - The freedom to run program for any purpose.

2. Freedom 1 - The freedom to study how the program works and
adapt it to your needs.

3. Freedom 2 - The freedom to distribute copies of the software.

4. Freedom 3 - The freedom to improve the program and release
your improvements to the public.

3x1

6339 6NM3 GILIYMY BTVIRAR EAUDMNAIXI] UMV
QU@ MVIPDODEERUS QluaBle>@le6)d:.

@96¥a|0@MAII@E MM agemeslelio memego

1. Freedom 0 - a@®@) @QUUROIMIe Gld(UNo (IQUBDDq fleermss
MO@(Dfo.

2. Freedom 1 - G090 af)6BROM (IOUBDHIHLEIMIOQUNTY
a10leeMYo M6BRBIOS @RHNUUBIEBRUBHE) GRMIBRIW(ANILNIMMSS
VOO (D)o.

3. Freedom 2 - GMVIa0Q OQAU@OAIONG aldBaldd0d Qllm®@emo
£.21QOMBS MVO@(Do.

4. Freedom 3 - G(al9(UNJ0 ©)N5|6)e]SIOMIMY M6BBBIOS
60.5]6)o]SIOMEREUB 6)ald@RERMEBRUEEe M Alellm) aaigommss
MO0

3x1

19




34

Draw a flowchart to find the biggest of two
numbers.

( Start ’
/InputHl,HZ/

Print H1

(Variables can be changed )

1/2

1)2

1/2 +
1/2

1/2

1/2

20




@6NE MVoEU(BSI@B QLN Mok HENZOMIMSS
GaQ0210BS UEWBERD:.

Print H1

(Variables can be changed )

1/2

1)2

1/2 +
1/2

1/2

1/2

21




35

Explain 3 types of literals in C++.

Any three literals with example

* Integer literals - Tokens constituted only by digits.

Any one Example like 15, +25, -15 etc
* floating point literal - Numbers having fractional parts.

Any one example like 12.5, +25.75, -10.25, 3E2 etc
* character literal - Character enclosed in **

Any one Example like ‘A", "b",\n",'5",'$" etc
* string literal - Characters enclosed within “ .

Any one Example like “welcome”, “125", "A", "2A"
( 1/2 mark can be given for each literal names 3 x 1/2)

(1/2 mark can be given for each example 3 x 1/2)

3x1

C ++ oe1 3 ®®o £llgoeReud ailaicleaes

9RInNEEMBOMISIHS] n@e@msleize mamy eilQoes,ud

* Integer literals - @PE66BRUB HEI6NE MI(@o BYa16)e|SIOTHIQ

BSIH6EMIEHUB.

aRBOMBLIY BE} ORIaN®EMo ( 15, +25, -15 etc)

* Floating point literal - lam quo6u(@>U8 DU SIM.
aRBOOBIRIYe B ORIaNeMo (12.5, +25.75, -10.25, 3E2 etc)

» Character literal - ' * M&@0) ag)K3@OM @REH®0
aRBOOBIRYo 8@} OBRINEeM. (A", b, \n", 5", '$" etc)

un

e String literal - “ " M@0 ag)YIOROMN G@ROHUOEBRUD
aBOMBILIY 630} ORIaNEEM. ( “welcome” , “125" , “A”, “2A" etc )

(ellgo@mileng GaleewI@@I@d 1/2 mades ailmo
6)EISIBHHIIM@IEN) )

( 8969 eilQO@MIIMEe ©BINBEMo o) RI@IWIGB 1/2 MBS Afl@o
6 HISENINUIMDIENM))

3x1

22




36 Convert the following switch statement to if ... else
if statement if (n==0) 1/2
switch(n) cout<<"Zero"; 1/2
{ else if(n==1) 1/2
case 0 : cout<<"Zero"; break; cout<<"One"; 1/2
case 1: cout<<"One"; break; else 1/2
default: cout<<"Not a binary digit ”; cout<<"Not a binary digit”; 1/2
}
o@mlgiss switch statement em if.. else.. if if (n==0) 1/2
9al@IUIl5] MIG] ag) 3RS, cout<<"Zero”, 1/2
switch(n) else if(n==1) 1/2
{ cout<<"One"; 1/2
case 0 : cout<<"Zero"; break; else 1/2
case 1: cout<<"One"; break; cout<<"Not a binary digit”, 1/2
default: cout<<"Not a binary digit ”;
}

37 o _ _ while do ... while
Distinguish between while and do ....... while loops 1

Entry Controlled Loop

Exit Controlled Loop

The condition is checked first
and if it is true, the body of the
loop will be executed.

Condition evaluates only after
executing the loop body at least
once.

No guaranteed execution of loop
body.

Execution is guaranteed once.

Syntax [ example - 1 mark for ea

ch

While, do ....... while £13aj3U8 @®IEMA(o 6)21QRS:.

While

Entry controlled loop

Exit controlled loop

Condition al@l@uoowla]
PRlWINEMEI@B @I(@o Lija]
G6NIOAW] (aIQIBODIN B0

B3] G6NUIW] 8@} (a1dCUURSo
(BT 5] BUBaHo condition
al@BlGUR0UWH60

900 (IQIB@DMo EDLY

630} (AIOQUURfo (AIUBDMo
90a]le60.
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a) What is the use of a looping (iteration) a) A looping / Iteration statement is used to execute a statement 1
statement? (1) or a group of statements repeatedly.
b) List the components of a loop. (2) b) Components of a loop:
Initialization
1/2
Test expression / Condition
1/2
Body of the loop
1/2
Updation Statement
1/2
a) loop (iteration) statement 603 9ale@IMIo o) ? |a) BBMI BATI@S BSIMEELID program statements @RAIBOI o] 1
(1) MIBUOlE6IM GAUNEl DalE@IUINBERMM].
b) 8@ eaflong allailw caise:6ERU8 agime. (2) |b) eqjleong cownearuB:
Initialization  ( (19®@or Qllel M@BH:@3)
1/2
Test expression [/ Condition (a1@l@uaaWmMI (IG@I0)
1/2
Body of the loop (eqflond 2156635 )
1/2
Updation Statement (a@la¥@@lEO@ (IMI®IIm)
1/2
( IlaBaEM [ ©BIa0BEMo af)RI@IITB 2 MORHS)
6)HISIEOIUIM@IE))
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a) List the different array operations. (2)

a) Any four from the following:

39 b) How many bytes of memory will be allocated for
the array. (1) « Traversal
int arr[10]; + Inserting 1/2 x 4
» Deleting
» Sorting
* Searching
* Merging
b) 40 / (10 x 4 = 40) 1
(1/2 mark can be given for formula
memory bytes = size of data_ type x size of array )
a) alallw®EOTeR8S GPEO 6390 |80HME:UB eilq]  |a) a@e®esleRe 4 af)flRe af)9IM6Mo
DES DL (2)
b) int arr[10]; ag)am @REO ag) (@ eemig enandl « Traversal
9alBINE60 ? (1) + Inserting
+ Deleting
« Sorting 1/2x4

» Searching
+ Merging

b) 40 / 10x 4 =40

(1/2 mark can be given for formula
memory bytes = size of data_ type x size of array )
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40

Differentiate between the C++ statements
cin>>name; and gets(name);

cin >>

gets()

1. cin is an input object in C++

2. cin>> - will accept the
characters in the string only
up to the space

1. gets() is a function [ console
function in c++

2. gets() function is used to
accept a string including

3. The header file iostream is spaces 3x1
needed 3. The header file cstdio is
4. syntax is needed
cin >> variable ; 4. Syntax is
5 Eg: cin>>ch; gets( variable) ;
5. gets ( str);
( Any three from the following )
cin >>name; , gets (name); agoil C++ 6396IMMI@3 Mo n@emesleie MIOMEo
(IMI@IUME-UE IR0 6)a1QIbs. o gets()
1.cin ag)om® &@3 object 1. gets() 8@} a063aUM | &6nd
@6, BMMVIUB aNE3UMB@IR)EY).
2. QUIBMNBUBHSISI@D 2. gets() - space @ssERIM
space QIMO@d space Q102168808 MY{lElE60B
QUOEQBS QUIHE) MI(@o ale@IUilecnamy
afle@loege 3. ©a0QQAB a0@@3 cstdio 3x1

3. ©a0QQB a0 @B
iostream @ryQuuRIENS
4. mdlagossy cin >>
variable;

5.Eg: cin>>ch;

@rRHUUYDIENS
4. mdlagosesmy gets( variable) ;

5. Eg: gets ( str);
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41 10 |What are the advantages of modular Any 3 points from the following
programming?
* Reduces the size of the program
* Less chance of errors 3x1
+ Reduces programming complexity
* Improves re usability.
GRIUREIIA BII(WIAIHF BMSEBRUB a)OAMEJI0? ®I6¥a]O@WIMAUDI@3 MIMY age@mssslelio 3 agegRe
* GIUIAIOMR QUL o BHIOQVERATY
* HOMQIBUB AUGIMD MVIWID EIOCUIETTY 3x1
* GIOW9EloUY MVESIBERD BIOWHERMM]
* AlIMN@ICGINO H)D.0]6)q]SIOTMIN].
42 2 |Construct a logical circuit for the boolean
expression . — s 3
—_ Y
XY +Y o
1/2 mark can be given for each symbol
@MI@leeRmM boolean expression & G103 H6)@D
MBS MDA 865 ol S
¥ S 3

XY+'Y

B

630609 Miloenuellmyo 1/2 @0@H6Y Qflmoe OBIS53EHIRM@IENT
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10

Compare call-by-value and call-by-reference
methods.

Call by value

Call by reference

Ordinary variables are used as
arguments.

Reference variables are used
as arguments.

Actual arguments may be
constants, variables or
expressions.

Actual arguments will be
variables only.

The changes made in the The changes made in the 3x1
formal arguments are not formal arguments are
reflected in actual arguments. |reflected in actual arguments.
Separate memory allocation is |Memory of actual arguments
needed for the formal is shared by formal
arguments. arguments.
Any three comparisons
Call-by-value method , Call-by-reference method Call by value Call by reference
)M @IEmA HaIQRH @RHBUROAMFIBUE @RI @RARUIOANFIBUE @RI
MLIWIEEM GAIRIENISE-UB 0an0MmMY cIBleNIlSIH:Ud
©a IGQINH6MY 9alEININHEMM]
@RE51|@B @RHBUIOANFIBBIQI] @RE>21|T8 @RHABUNIOANFIBBIQI]
constants, variables, expressions |erGleENISYEUd @I(@o
LM Dale@IUleeo 9ale@IUI 60
Formal argument &l@d Formal argument &l
IO} M0Q6arRUd Actual QIEOORM MQ68rRUd Actual
argument &gl (Iollaneilesig) argument &gl@d (I@lanelleeio
Formal argument o) (@@ Actual argument, formal 3 x1

2220 @RHUURENE

argument ol 86® @A
DalCIUI LM},

a@OMBsILe 3 MIRMMA(6BRUB
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10

Write the use of the following pre defined
functions.

a) strcpy()
b) sqrt()
c) isalpha()

a) strcpy() - used to copy one string into another.

Syntax : strcpy( string 1, string 2);
b) sqrt() used to find the square root of a number.
Syntax : double sqgrt(double);

c) isalpha() - used to check whether a given character is an
alphabet
or not.
Syntax : intisalpha (char)

(Syntax [ example can be given 1/2 mark each)

69 @aMlcleemm pre defined aN6BRHUME816S
DalBQIWo af)PORE:.

a) strcpy()
b) sqrt()
c) isalpha()

a) strepy(): 8@ miSleaklom neQom; miSlearleelss) copy 6.a1QIm
DaIBINBERM]

Syntax : strcpy( string 1, string 2);

b) sart(): e®; meal@es BRI B6NB3ailSlesomd
DaIBINIBERM].

Syntax : double sqgrt(double);

c) isalpha() : @amil@lesmm character @REMEDIEEMI @RLEWI

a)0M al@BlEUBIWIEHIMB Dale@IUIH6RMMY
Syntax : intisalpha (char)

(milagosesmy [ ©39a0eeM@IMY 1/2 @0des) flmo
OBISIEHIUIM@DIENT )
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45 11 |What is the need for computer networks? Any three from the following:
1. Resource sharing
2. Reliability
3. Price [ Performance ratio 1x3
4. Communication
5. Scalability
HHMIPSB OHNMQAUBLOYE:BIOS BRHAUUDED af)TMIEM? | @INPa]O@IMAUDII@3 M age@messleigo mam:
1. alleueerud alsslswd
2. aflualpmuio 1x3
3. aflel [ (&sm @oMiald®o ( ealelal &goal)
4. @ruo@allmlawo
5. ailaelle-dlenrmas mouwi
46 11 |a) Define Ring topology All nodes are connected in a circular fashion. 1
b) Write any two characteristics of ring topology Any two features from the following
c) Draw the diagram of ring topology * Needs less cable length, hence cost is less
« No signal amplification is needed. 2x1/2

. Failure of a node will affect the entire network.

+ Addition of new nodes is difficult.

Q@}\\@

5 !

-

30




a)ales @saGqjogedl Mldqailecyss

b)dler’ @soGqjogedles age@mesleige ®eNE yjEIA
MANGUBAHDEUB )93

Aler¥ 8soGeogeslanes all@o e ee)d:

af)BJO BMIUIEBI0 QUYOMIBY@I @B erumulelal@leszam;.

aBOOBIRRo N3 MAIGUBUD BUDB:
* 36NflUd OORBRIO B30Id6MN,
@R@IMI@ &) aleln] &J0NId6NY
* MIluN@3 @Rogfladleee)aud

© @RUUIAIE.B0) EMIWION] @ISR MLINIMD
OMQAUBSENOM@Yo NUIUSIE6}0.

* @I BMIURGUE  B5SG| GaIBHLO@D eNIELIDISO6M).

5@

P

3

2x1/2

47

Write C++ code for the following:
a) To display the message “Break the
chain”
b) To assign 25 to the variable x
c) To accept the mark of a student to the
variable score.

a) cout<<"Break the chain”;
b) x=25;

C) cin>>score;

@969 ]|OQIMAUES C++ GBI af) 93@RE>.

a) “Break the chain” agym eacqyes
(a13@BUBlojlesnmailay

b) X agym saudlenilglay 25 agem ailel
6)BISIBEM @I,

C) score ag)Mm caIGlenilgleelss B@}
allzgpdodlyes aades) myjle:eleamalay

a) cout<<"Break the chain”;
b) x=25;

C) cin>>score;
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48

12

Explain any three sections of an e-mail

Any three from the following

To : Address of primary recipient

Cc: Carbon copy [/ Address of Secondary recipient
Bcc : Blind carbon copy / Address of tertiary recipient
Subject : Short summary of the message

Content : Actual message

( Section names can be given 1/2 mark each 3 x 1/2)

3x1

E-mail 03 age@eileie @ eruemysud
Qllu@leeyss

@969 @MIGCleaMAUIITE agemeslee m3eMeRo
To - (@owndle miledomonieng ailenave

CC: Carbon copy / sil@l@ mijle-domaaileng aileinme

Bcc @ Blind carbon copy [/ @@l avjle-domoaileng aileioave

Subject: MLEMUEBIONR Moo
Content : @LN0@@AO TVEMUBO

Reply to : @03aISle03 @r@IEH6 M2 nen@l@d alleldmoe

(Section names can be given 1/2 mark each 3 x 1/2)

3x1
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PART D |Answer any 1 question from 49 to 50. (1 x 5 = 5) |49 @@ @3 50 AUOERSS nGODMB:ILIY0 1 G2l DOm®Eo PART D
MNOBDYH>. (1x5=5)
49 3 |a) List the different phases of programming (3) a)Any six from the following
b) What is syntax error in a program. (2) . (i) Problem Identification
. (i) Preparing algorithms and flowcharts
. (iii) Coding 6x1/2
. (iv) Translation
. (v) Debugging
. (vi) Execution and Testing
. (vii) Documentation
b) Syntax Error : Error occurs when the syntax or rules of the 2
programming language is not followed.
(1 mark can be given for “Error detected during compilation “
a) gowalsadleng allaflw AeISEERUY af)3RE:. a) ®aey mmlcleanmueild agemsslello 6 agemo
(3) ¢ (@U8Mo BBl Olead
b)&@} GIo(Idl@d Syntax error agmoen? ©  @RMENIBIOAI Gagdald@Sl @YI0ILOTD
(2) *  G(lI(NT0 BHIW 62T
s al@lERIY 6x1/2
« aSlenuyflers
¢ (UBODTMAOU al@leHemllo
«  allaiesemoe M@QINIENH:
(806@IMIMI0 1/2 @0BH6Y Qfl@o )
b) @o0aileadrs e1d0eUeslong MImeBRUd @ROERESIEE (UIELISM
a19elle62e™mE U8 MeRAIleeM MQIE:826m MIlaFoEMY ag)0d 2

("@6r6MICRIHE MVAQDITY &HI6ME]SIM HDQIBHUB "
a)OMYIOIIT 1 MIBHE) H)BHISIHOIUIIM@IEN) )
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50

Explain any five data communication devices.

Any five from the following:

1. Network Interface Card (NIC)

NIC is a device that enables a computer to connect to a
network. / It provides hardware interface between a computer
and a Computer Networks

2. Hub:

Hub is a device used to connect computers / devices of the
same network.

3. Switch:

Switch is an intelligent device used to connect computers /
devices of the same network.

4. Repeater: A repeater is a device that regenerates / amplifies
the signals through a communication medium.

5. Bridge:
A bridge is a device used to segmentise a network.
6. Router:

A router is a device that can interconnect networks of similar
type using the same protocol.

7. Gateway:

A gateway is a device that can interconnect two different
networks having different protocols.

(Names only can be given 1/2 mark each 5 x 1/2)

5x1
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Data Communication o 9alc@ouileeom
aRBOOBILI0 5 Dald@6MeBRUB QllQIGIES:.

@96¥a|0@MAII@E MM agemsslelo 5 agemo
1. ©MQUBHE) HARBBNMY 3BW (NIC)

80 HMQAUBSESIGRIBE) B6ME>QIO21QIMB B HMURSAIOM
(10aT@®@IBERM B30} Daldeemadem NIC.

2. a06n:

860 OMGAUBLSNGLISS BMIRSOYEUB | Dald>@6MEBBUS
enIMWla {86908 9aleIUILMM BB} Dald>@6MMAIEN an6NT.

3. auilg]

8360 HMQPOUADEICRISE) BMUISNIBUS [ Dald:@6EMEBRUD
enIMWla l66908 ateauilesym mldadlmenyeile@os @Sl
DaldEEMAEM Mfla].

4. dlo]lgad: 8@} allrla@ AdWREIEROS QUM HEURID B0 b
@RUNEBROS VOB SIOTM B®} aldE6M@IEN GlaflQad.

5. (enilauwyes:

80} ValRIO® OileeEleedMm DaleIUTenM B3®)
DaldE6MMIENT (enilaes.
6. O15@:

BCO B(IICFIBHNIUT DalE@INIEHIMM MHAIM O LRSS
OMQAUBBMNGUB alEMal@o NIMWlaleedm e:¥laym o}
DaldHE6MAIEN 03SA.

7. aQ G

Q@@ G(IIBSICHNISIH-BIBS 6N QU@
OMQAUBBMNBUB alEMal@o NIMWlaleedm e:¥laym o}
Dald>6MNAIEM BUQEA.

Cal@IBHUB Mo af)III@D 1/2 @IBH6) Qfl@o
6H>ISIHOINRM@IEM 5 X 1/2)

5x1
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